*x
, COy,
y V1
y V2
y V3
1 |K+ k
i =7
2 m
1 K-k
Vo) = — 4|/
2 Y7,
1 |2H
V3 = 4
2r \ u
u » M=

—0--—
—0-0—

©
m

Mo

**

vi = 4.01x10% (1), v, = 7.05%10" (S), vs= 2.00x10™ (S1)

m

m = 2.66x10° (kg), mo = 1.99x10% (kg)

, Kk, H

Mo

kgs

-2
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200

1)

(2)

(3)
100



(dQ=0)
dw=-PdV =CdT Cv
PV = nRT
(%.%) (4. %)
UTE = UTE 0 = X
't 1l nR
PV" = constant, y = b + nR

**

dw
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8.

® ho
S &
&g =Sh® -1

. Z(t)=> exp(-&s/t), T=kgT
s=0
Z(x)= "> exp(-sholt) -2
s=0
1. , Z(r),
1

Z(x) -3)

" 1-exp(- hol)

sho S P(s)
P(es) = —eXp;_(:)S/T) :
p() - 20 o) @)

S

. is x exp(— sho/t)
s) =Y sxP(s)=5=0 -
(5)= 2.5%P6) 70 ©)

2. @3 (5



(5) = exp(io/7)-1

IPCC

-(6)

Intergovernmental Panel on Climate Change

**
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